Maths

Today, we will be subtracting 3-digit numbers using counting up.

Remember our frog is lazy and likes going to the next multiple of 10
for a rest.

One more thing to the remember, the smaller number goes at the
left-hand end of your number line and the larger number (the
number the frog is jumping fowards) goes at the right-hand end of
your number line.

Here's an example:

52 3-47 8:=45

2 + 20 + 23 - 45
N Tl
478 480 523

Now, in your home learning book, copy and complete the questions
below using the counting up method.

1. 316 - 285 =
2. 385 -342 =
3.614-578 =
4.763 -717 =
5. 823 -792 =



6. 517 - 469 =
7.931-884-=
8. 727 - 681 =



